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Al (4a+b—1) = (-a+ 3b - 4) & 7FH3] PH?

® 3a+4-5 @ 3a+2-3 @ sa-2b-3
@ sa+2b+3  G)sa-26+3

(da+b-1)=-(-a+3b-4)
—4a+b-1+a-3b+4
—5a—2b+3
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3. =ax?>+bx+c M a+b+c 9 FH2?
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1 2 4 5
© -3 @)-3 @1 @ 3 ® 3

2x2 -5x+4 x> +2x+1

3 - 4
_ A(2x% -5x+4) 3(x*+2x+1)
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_ 8x% —20x+ 16 — (3x% 4+ 6x + 3)
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52— 26x 413
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4. 5x-2M4y+x-3{x-2(3x+y) +y}] &t

@—27x - 14y @ -12x -5y ® 4x-11y

@ 12x + 10y ® 20x + Ty

B

5x— 2[4y +x—-3{x-2(3x+y) +y}]

=b5x-2{dy+x-3(x—6x—2y+y)}
= 5x—2(4y + x — 3x + 18x + 6y — 3y)
= 5x — 8y — 2x + 6x — 36x — 12y + Gy

= —27x— 14y




5.

—x(2x-3y+3) = Ax* + Bxy+ Cxd ™, A, B, COl } A+B+C
o] gh2?

(—=x) X 2x + (=x) X (=3y) + (=x) x 3
= —2x + 3xy — 3x
LA+BHC=(-2)+3+(-3)=-2




6.  (15x? + 9xy)+3x + (252 — bxy)+by & 15| ofAH?

©4x+8y @ 8x+4y ® 10x+ 2y

@ 10x + 8y ® 14y

(15x2 4+ 9xy) + 3x+ (25y% = 5xy) = 5y = 5x+3y+5y—x = 4x+8y
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9.

2(2x-y) = 3+x+y D W, 2(x-2y) +y-25 x°] BF A2
AL

QD‘X+1 @ x-2 ® 2x-3
@ 2x-4 ® 3x-5

B

2 veb

22x-y)=3+x+y

dx-2y=3+x+y

3y=3x-3

Ly=x-1

Fo170 Aof| fishd

2x-2y) +y-2=2{x-2(x-1)} + (x-1) - 2
=2(x—-2x+2)+ (x-1)-2
=2(-x+2)+x-3
=-2x+4+x-3
=-x+1
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10. 3a-2b=2a+b¥d W, — = 2] Zt2?
2a—-b
o-2 o-1 oo @n ® 13
7 3

3a—2a=b+2bA a=3bo|BE2 Fo]A Alof tjelstH
3b+2b _ 5b
2%x3-b 5b




